FHEHHRRETHES FRHR

HH6FE07FO2H
R E 239.6 t
R REREESE 20261
FmB kST RRAE FRiE FEM EFh| B4 AR 58 HRSE 58
Bs 8= =iE | PiE | xwiE
EWlA 17.0{&Y 0.0 — — —
xRS AR 10kg 17.0] 1,404 —| 1,080
R 5 i 0.0 - — —
SRRt 0.0 — — —
& 0.0 — — —
TiGHEE 0.0 —_— _— .
FEMEE 0.0 _— — —
CA LA 15.0( &Y 0.0 — — —
GESUE] FER 10kg 15.0[ 3,240 — —
5 B 0.0 — — —
MiEMERE 0.0 -_— J— —
5 0.0 — - —
TISREE 0.0 — — —
EEMEE 0.0 — — —
<& 2.0|#Y 0.0 — — —
AR ERE| EHE 12kg 2.0 1,404 — 600
RS i 0.0 - — —
LRI EineS 0.0 — — —
& 0.0 — — —
TGRS 0.0 —_ — .
EEREE 0.0 _— — —
FoRy 18.0|&Y 0.0 — — —
HEERE BHER 10kg 18.0[ 1,296 — 600
[Skzbex: 0.0 — — —
iR RIER % 0.0 - — -
i) 0.0 — - —
IS RE 0.0 — — —
EEMEE 0.0 — — —
ES5NAZS 6.0| Y 0.0 — — —
HBRTERE| AR 170g 6.0 108 — 65
[k 0.0 _— —_ —
LRl LS 0.0 — — —
& 0.0 — - —
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
nE 10.0{&Y 0.0 — - —
GESUE] RNE 5kg 10.0[ 2,160 —| 1,080
[Skzbex: 0.0 — — —
MG R 0.0 — — —
& 0.0 — — —
IS RE 0.0 — — —
EEMEE 0.0 — — —
25 40|y 0.0 — — —
HERTERE| AR 100 g 4.0 86 — —
R i 0.0 — — —
IG5 0.0 — — —
& 0.0 — — —
G REEE 0.0 —_ — .
EEMES 0.0 —_— — —
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HH6FE07FO2H
fRERE 239.6 t
R REREESE 20261
T kST RRAE FRiE FEM EFh| B4 AR 58 HRSE 58
L4 8= =iE FiE | RIE
La R 10.0{&Y 0.0 — — —
HEAERE RHR 10kg 10.0[ 1,728 —| 1,404
B B 0.0 - — -
TiipRAERE 0.0 - — —
i 0.0 _— — —
MG EEE 0.0 -— — —
EEREE 0.0 - — -
Ep35Y 8.0V 0.0 — — —
A xT AR5 AR 5kg 8.0 1,728 — 1,080
[k 0.0 — —_ __
GRCIDERES 0.0 — — —
B 0.0 — — -
TIBRNE 0.0 - — —
EEMEE 0.0 — — —
Y 6.0 &Y 0.0 — — —
FAXTER5 AR 400 g 6.0 162 -— —
B B 0.0 - — -
Tiip AR L 0.0 - — —
& 0.0 -— — —
TGRS 0.0 —_ — .
FEMEE 0.0 _— — —
e 10.0|&Y 0.0 — — —
el Ll 4kg 10.0( 1,29 -— —
[Skzbex: 0.0 — —_ —
iR anE 0.0 - — -
B 0.0 — - -
BRI 0.0 - — —
EEMEE 0.0 — — —
E—<> 3.0y 0.0 - — —
LEESEvE] TR 150 g 3.0 65 — —
BB 0.0 - — -
g AR 0.0 - — —
& 0.0 — - -
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
Ehul & 8.0 &Y 0.0 — — —
AARER5 FHE 10kg 8.0 3 564 — —
[Skzbex: 0.0 — — —
Gt DLTRES 0.0 — —_ —
B 0.0 — - ___
BRI 0.0 - — —
EEMEE 0.0 — — —
=FERE 19.0) €Y HAR 20kg 1.0 432 —| 2160
AR AR5 AR 20kg 18.0 4,104 -— 3,780
BB 0.0 - — -
g RIER % 0.0 - — —
& 0.0 — - -
G REEE 0.0 —_ — .
EEMES 0.0 —_— — —
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SHI6E07F02H
fRSTE 239.6 t
HR BEMEAH 2026t
F&E kST SZEAE aniE FEM Eik | B4 HR5E RSt %8
=5 HE =fiE | PiE &
ELWIT 0.71&Y HARE 100 g 0.1 32 . —
AEXERS| HAR 100 g 0.6 130 — 65
RIS 0.0 - - —
B RIELE 0.0 — — —
B 0.0 — — —
MG EEE 0.0 -— — —
2 ERES 0.0 - — —
A 3.0y 0.0 — - -
% ERE EHE 5kg 3.0l 1,404 — —
[k 0.0 — —_ __
GRCIDERES 0.0 — — —
B 0.0 — - -
TIBRIE 0.0 - — —
EEMEE 0.0 — — .
. el 4.0|€Y KR 200 g 0.2 32 — —
AEX AR5 ZHAR 200 ¢ 3.8 54 — 11
RS 0.0 - — —
B RIELE 0.0 - — —
B 0.0 — — —
TGRS 0.0 —_ — .
FEMER 0.0 — — ___
ZIES 1.0|#Y 0.0 — - -
el mAR 4kg 1.0[ 2160 -— —
[5L7ibar 0.0 — — .
ISR EE 0.0 - — —
B 0.0 — - -
TSR E 0.0 - — —
EEMEE 0.0 — —_ ___
LwAEL 0.5|#Y 0.0 — — —
R AR AR 150 g 0.5 162 — 108
[Ek7bek: 0.0 — — ___
MG ERE 0.0 — — .
& 0.0 — - -
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
ADEEF 0.8[wvY 0.0 — - -
R AL EHE 200 g 0.8 76 — 65
[5L7ibar 0.0 — — .
ikl EiReS 0.0 — . .
& 0.0 — - —
5 R E 0.0 — — -
EEMEE 0.0 —_ —_ ___
G =27 R8T 1.o|l#vy 0.0 — — —
5T ERE AR 100 g 1.0 194 — 108
S B 0.0 - — —
SR ER% 0.0 - — —
BE 0.0 — - -
G REEE 0.0 —_ — .
EEMES 0.0 —_— — —
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SHI6F07FO02H
fRERE 239.6 t
HR EEMBEAE 2026t
FmB kST TEAK FniE FEM EFh| B4 B 5 HRSE 58
2 BE =iE FiE | RIE
MEL © 0.5[wv 0.0 — — —
MR AR HmAR 10kg 0.5| 3,564 — —
R 5 i 0.0 - — —
iR 0.0 — — -
& 0.0 — — —
MG EEE 0.0 -— — —
FEMEE 0.0 _— — ___
H-—LAEZR 0.3|&Y 0.0 — — —
HXRE EHE 4kg 0.3] 1,620 -— 864
[k 0.0 — —_ __
GRCIDERES 0.0 — — —
& 0.0 — — —
iR E S 0.0 — — -
EEMEE 0.0 — — ___
=l 4 3.0[&y 0.0 — — —
LEESEE] ZHE 200 ¢ 3.0 140 — —
RS i 0.0 - — —
iR 0.0 — — -
& 0.0 — — —
TGRS 0.0 —_ — .
FEMEE 0.0 _— — _
E53H52L 1.5|#Y 0.0 — — —
el mAR 5kg 1.5 972 -— —
[Skzbex: 0.0 — —_ -
iR RIER % 0.0 - — -
& 0.0 — — —
THigRE 0.0 — — -
EEMEE 0.0 — — ___
AEED 0.3[&Y 0.0 — — —
X5 AR 300g 0.3 324 -— —
RS B 0.0 - - —
igREnE 0.0 — — -
& 0.0 — — —
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
Z Dt 50.0 275k — 50. 0 — — —
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SHI6F07FO02H
Rt E 239.6 t
RE AR R A Bt 32.0%
e kST TEAK FhiE FEH EFh| B4 B 5% iR e 48
2 BE =iE | PiE | xwiE
HIvA 0.5|€Y 0.0 — - —
XA N R EEE Tkg 0.5| 10,800 — -
RIS 0.0 - - —
TSR 0.0 — — —
B 0.0 — - —
MG EEE 0.0 -— — —
2 ERES 0.0 - — —
JL—7I1L—y 0.5[&Y 0.0 -— — —
L M7 7N 17kg 0.5 6480 — —
[k 0.0 — —_ __
GRCIDERES 0.0 — — —
B 0.0 — — —
ISR E 0.0 - — —
EEMEE 0.0 — — ___
N+ 3.0[w#y 0.0 — - —
ARX{ RS 74VEY 13kg 3.0 3888 —[ 3,240
RS 0.0 - — —
TSR 0.0 - - —
B 0.0 — - —
TGRS 0.0 —_ — .
FEMER 0.0 — — _
LEY 0.5(&v 0.0 — - —
S LE] F) 17kg 0.5 9,720 -— —
[k 0.0 — — -
ISR EE 0.0 - — —
& 0.0 — - —
TSR E 0.0 - — —
EEMEE 0.0 — — ___
HH 4.0(wy 0.0 — - —
ExERE e 5kg 40 5400 4320[ 3024
A5 B 0.0 - - —
iR 0.0 - — —
& 0.0 — - -
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
RES 0.6]€Y 0.0 — — —
AxERE B HAR 350 g 0.6 702 — —
[EkzEek:d 0.0 — — ___
Gt DLTRES 0.0 — . -
& 0.0 — - —
SR 0.0 - — —
EEMEE 0.0 — — _
ERCTES 0.0[&v 0.0 — - —
taxtE| 0.0 - - —
S B 0.0 - — —
SR ER% 0.0 - — —
& 0.0 — - _—
G REEE 0.0 —_ — .
EEMES 0.0 —_— — —
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SHI6FE07F02H
R E 239.6 t
RE ERFEME A 32.0¢
Y R | REAE o IEM | B8R | B | Bt ey
L 8= =fE | FfE | B
A0y 2.5y 0.0 — _— -
LEESEE] T—ILR BER 9kg 2.5| 10,800 — —
B 0.0 — — ___
Gk ETRES 0.0 -— — -
i 0.0 _— — —
TiGEEE 0.0 -— _— .
EEMEE 0.0 — — -
ERRY: 8.4V 0.0 — -— —
XA Bt FHEE 18kg 8.4 3,780 3,024 2,160
[k 0.0 — —_ __
GRCIDERES 0.0 — — —
B & 0.0 - — —
TIBRIE 0.0 - — -
FEMEE 0.0 — - -
TLoT 0.5(&Y 0.0 - - __
HExERE F AN 17kg 0.5 10, 260 — —
EY5 0.0 — — ___
B RIELE 0.0 - — —
& 0.0 -— — —
TGRS 0.0 —_ — .
(EMEE 0.0 — — -
NAoT7y TN 1.0|&Y 0.0 o -— -—
X EE| J4UEY 10kg 1.0 2,916 -— —
B B 0.0 — - -
iR ER% 0.0 — — -
B & 0.0 - - —
TSR E 0.0 - — -
FEMEE 0.0 — - __
94 TNL—Y 0.5(&Y 0.0 —_ —_ —
XA Z1—Y—5 UK 3. 5kg 0.5| 2,484 — —
E5 0.0 — — ___
B RIELE 0.0 - — -
& 0.0 — - —
TG REEE 0.0 —_ — .
FEMEE 0.0 -— — —
ZOMEE 10.0{2#5% — 10.0 — - ___




FHEHHRRETHES FRHR

L H64E07502H
HBERFTHE 239.6 t
Z Dk R ESE 50t
EL W%k | REAR niE TER | % | B | Bke oY
HEF %8 [ SE | 7B | B
Z0tt 5.0| 24 — 5.0 - — —




